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Team Competition #1

How many squares are there on a standard 8 x 8 checkerboard?

{Hint: not all of them are 1 x 1)

Find a pattern:
In a 1 x 1 checkerboard there would be only one square

i

In a 2 x 2 checkerboard there would be 4 small squares(1x1) and the 1 large square{2x2)

5

In @ 3 x 3 checkerboard there would be 9 small squares (1x1), 4 squares(2x2), and 1 square {3x3}

14

Continuing with this we see a pattern
1x 1 had 12

2x2had 102 +272

3x3 had 172 + 272 + 312

A4+ N + 3R+ 4R+ 502 4+ 682 + 7 M2+ 8A2 =204
So,andeShasl‘Z A A f2+ 6 W18

Answer: Time on Clock:
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Team Competition #2

Find a right triangle with integral side lengths and area 84 sguare units.

Using x and y for the legs we have % *x*y = 84, s0 xy=168, and hypotenuse is \/m
Factors of 168

1,168

2,84

3,56

4,42

6, 28

7,24... note that 7, 24, and 25 form a Pythagorean triple, so these are the sides

Answer: Time on Clock:
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Team Competition #4

Giventhat 2 — 5i isazeroof f(x) = x*— 12x3 + 66x2 — 252x + 145 , find the other
zeros, Give exact answers.
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Answer: Time on Clock:
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Team Competition #5

Find the domain of flx) = -___.__‘/m

i . Give answer in intervainotatfon.
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Team Competition #6

Write the equation of the vert

ical parabola that passes through (- 8, 5/2)
the center of the circle given b

y 2x2+8x+2y2--14y+10=0
AOEL x4 Ayt 7y 489 =8 =544 4

466
(x42)*+ ( y-3)* =

and whose vertex is

¥
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Time on Clock:
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Team Competition #7

Given f(=7) = 4, F(2) = L f(3) =

: (g Qf)(z) -t ~}

T NDIORE ﬁ (.Q(,ﬂ)‘ - 9 ( » . 5
£ g3 8. -2

8, and some points on g(x) are (2,7}, (3,-3), (5,1),

Answer:

Time on Clock:
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Team Competition #8

John can floor a tiny house in 4 hours,
together, John can only work at 60% of his normal speed and Sherry can only work at 80%

her normal speed due to socializing. How long will it take them,'g’m%ﬂ_mmmico
floor the tiny house? Please include units, q
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Team Competition #9

The following data was gathered relating the number of feet a car travels once the brakes are
applied, y, and the number of seconds the car is in motion after the brakes are applied, x,

X =1 second, y = 46 feet
X =2 seconds, y = 84 feet

X =3 seconds, y = 114 feet
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Team Competition #10

What is the probability that 3 number chosen at random from the natural numbers from 1 through 1000
inclusive, does not have a 2,3,4,0r5as3 factor?

500 are odd {not multiples of 2)

200 are multiples of 5, but 100 of these have already been taken out because they were even, so subtract ouyi
the 100 odd multiples of 5

333 are rultiples of 3, byt 166 of these have already been taken oyt since they were even, and 33 of the
remaining 167 were taken out as odd multiples of 15, so subtract 134 multiples of 3

{ 300-100-134}/1000
=266/1000 = 133/500

Answer: Time on Clock:




